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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.
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What emerged as a force which brought about sweeping changes in the political and
material world of Europe in the nineteenth century ?
(@) The emergence of the nation state
(b) The multi-national dynastic empire
(c) Territorial state
(d) Absolute monarchy
OR
When did the conflict with the U S end in Vietnam and how ?
(a) Peace settlement in Nuremberg in April 1974
(b) Peace settlement in Paris in January 1974
(c) Peace settlement in Hanoi in December 1972
(d  Peace settlement in Vietnam in September 1969.

Conservatives did not believe in establishing and preserving :

(a) the monarchy (b) the democracy

(c) traditional institutions of state and society = (d) social hierarchies.
OR

What were the provinces of Nghe An and Ha Tinh called in Vietnam ?

(a) Electric current (b)  Electric circuit

(c) Electric fuses (d) None of the above.

In which movement did Gandhi see an opportunity to bring Muslims under the umbrella
of a unified national movement ?

(a) the oppressive plantation system in Champaran movement.

(b) A satyagraha movement to support the peasant of the kheda district of Gujarat.
() A nation wide satyagraha against the proposed Rowlett Act of 1919

(d) A non-cooperation movement in support of Khilafat as well as swaraj.

Which pact resolved the issue of separate electorates for dalits between Gandhi and
Ambedkar in 1932 ?

(a) Lucknow pact (b) Nagpur pact

(c) Poona pact (d) Surat pact

Which is correct about Magnetite iron ore ?

(a) Magnetite is the most important industrial iron ore in terms of the quantity used.

(b) Magnetite has the inferior magnetic qualities which is not valuable in the electric
industry.

(c) Itis the finest iron ore with a very high content of iron up to 70%

(d) It has a slightly lower iron content than hematite (50-60%).

Which of the following includes non-ferrous metals ?
(a) iron and manganese (b) Steel and iron ore
() Hematite and magnitite (d) copper and bauxite

The economic strength of the country is measured by which of the following
developments ?

(@) The development of the manufacturing industries

(b) The development of the literacy ratio

(¢) The development of the health status

(d) The development of the population growth.

Which one of the following is a tidal port ?
(@) Kandla (b) Kochi (c) Marmagao (d) Vishakhapatnam
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Which of the following is a public interest group ? 1

(a) Trade unions (b) Professional associations
(c) Business associations (d) A group fighting against bonded labour.
Which of the following is not a way to influence politics by the pressure groups ? 1

(a) Carrying out information campaigns
(b) Disrupting government programmers
() Contest elections

(d) Offer advice to the government.

Which among the following is not the function of political parties ? 1
(a) DPolitical parties contest election to win the majority and from the government

(b) Political parties do not play important role in making laws for the country

(c) Political parties that lose the elections form the opposition party.

(d) Itis an important link between the government and the public.

Which one of the following is a foundational challenge ? 1
(a) Extension of federal principle to all the units of federation

(b) Greater power to local governments

(c) Bringing down the existing non-democratic regime.

(d) To increase peoples participation.

Which of the following institutions is authorized to issue currency in India. 1
(a) Reserve bank of India (b) Bank of India

(c) Parliament of India (d) President of India

Name the system in which the double coincidence of wants is an essential feature ? 1
(a) Barter system (b) Money economy

(c) Global economy (d) None of the above

Which factor has not enabled globalization ? 1

(a) Containers are used in transportation which resulted in huge reduction of costs
and increase in speed in reaching the markets.

(b) Now anews magazine published for London readers can be designed and printed
in Delhi.

(c) Trade barriers or restrictions set by the government

(d) Goods can be imported and exported easily.

On which of the following products Agmark is used ? 1
(a) Certification of edible oil and cereals

(b)  Certification maintained for standardization of Jewellery.

(c) Certification of electronic items.

(d) Certification on LPG cylinders

Explain any three measures or practices which created a sense of collective identity

amongst the French people 3x1=3
OR

Explain any three steps taken by the French to achieve their aim to exploit the natural

resources of Vietnam. 3x1=3

How did Mahatma Gandhi successfully organise Satyagraha movements in various
places just after arriving in India ? Explain by giving three examples. 3x1=3
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Describe the qualities of four different types of coal found in India. How is coal formed?z_'_l_3

Describe any three main features of chemical industry ? 3x1=3

Why is it important for us to improve our weaving sector instead of exporting yarn in
large quantities ? 3x1=3

Give any three differences between popular movement in Nepal and struggle in Bolivia3 1=3
x =

Why is democracy considered much superior to any other form of government in
promoting dignity and freedom of the individuals ? Give any three reasons. 3x1=3

How does democracy lead to peaceful and harmonious life among citizens ? Explain. 3
Briefly explains foundational challenge of making transition to democracy. 3

In what three ways has Liberalization of trade and investment policies helped the
globalization process ? 3x1=3

Explain any three factors that have enabled globalization ? 3x1=3

What legal measures were taken by the Government to empower the consumers in 3
India ?

Explain any three rights of consumers. 3x1=3

Examine the role of women in the nationalist struggles of Europe 4
OR

Describe the views of Paul Bernard on the question of development of the colonies.

Mention any three barriers to which were a hurdle in improving the economy of

Vietnam. 4x1=4

Describe the extent of peoples participation in the Non-cooperation Movement in the
towns. What were its economic effects ? 2+2=4

Describe any two merits of railways and any two problems being faced by the railways. 2+2=4
What is a political party ? Give any three characteristics of a political party. 1+3=4

Describe the pattern of formal and informal sources of credit in urban areas. Why do
we need to expand formal sources of credit ? Give any three reasons. 1+3=4

Two features A and B are marked in the given outline political map of India. Identify
these features with the help of following information and write their correct names on
the lines marked in the map. 2x1=2

(A) The place of peasants Satyagraha in Gujarat
(B) The place where salt Satyagraha ended.
OR
Locate and label the following items with appropriate symbols on the same map. 2x1=2
(i) Bardoli
(i) Amritsar

NOTE :  Answer the following questions for the BLIND CANDIDATES only, in lieu of

Q. No. 35.
(35.1) Name the place where Jalliawala Bagh incidence took place 2x1=2
(35.2) Name the place where salt satyagraha started.
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36. Three features A, B and C are marked in the given outline map of India. Identify these
features with the help of the following information and write their correct names on
the lines marked in the map. 3x1=3

(a) Coal mines
(b) Major port
() Iron and steel plant
OR
Locate and label the following items on the same map with appropriate symbols
(i) Madurai
(i) Tarapur

(iiiy Burnpur

NOTE: The following questions are for the BLIND CANDIDATES only, in lieu of
Q. No. 36.

(36.1) Name the Iron and Steel plant of Chattisgarh
(36.2) Name the major port of Goa

(36.3) Name a nuclear power plant in Maharastra.

-00o0-
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